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3. wﬁﬁqﬁlﬁaﬂﬁﬁﬁqmmﬁfwmm .

(1) wﬁﬁaﬁ
(2) eI

(4) I

§ SRR i
| .'wﬁaézozsﬁmﬁiﬁﬂqﬁmmwm

'[1) gl
(2) A9

g@mmmﬁﬂﬁﬁqhammﬁﬁ T H | 1.
%ﬁaﬁmmﬁasﬂmmﬂmm’é? .

When natural prodyctg are ch *
forms through wayg of Many; . ing T
sl Cluring, is
(1) Tertiary sector
(2) Industrial secto,
(3) Primary sector
(4)  Secondary secto
(5) Not attempteq
which district of
i?hajuf aho Group of M?:E;titgrliﬂ'?am
(1) Chhetarp
(2) Jabalpur
(3)  Gualior
4) Indore

(5). Not attempted

L I ﬁhich of the fﬁllnwing 1S n?t part of the
' panchayati Raj system in India?
' (1) Zila Parishad

(2) Gram Parishad
(3) Gram Sabha
(4) Gram Panchayat

. . (5)  Not attempted

‘4. - Where is the National Gallery of Modem

located ?
(1)~ New Delhi
(2) Kolkata
"(3) - Mumbai
(4 Nagpur

_ ~(5) Not attempted

‘l ial
Whom did India beat in the Finals of As?

. _E:':
One Day Cricket Tournament held I th

20237
() Sn Lanka
(2) Nepal
(3) Pakistan |
(4) Bangladesh j

(5) Not attempted
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doaa T A forg o # o weew o forg W

In which year did the United Nations adopt
> = feenfree &) 39 ? the UN Guidelines for Consumer Protection ?
(1) 1985 (1) 1985
(2) 1990 (2) 1990
(3) 1986 (3) 1986
(4) 1987 (4) 1987
(5) SW T 2 (5) Not attempted
7. WERITH el feom 2 7. Where is Salar Jung Museum located ?
) ‘EIE I (1) Mysore
2) e (2) Goa
(3) WTE (3) Bhopal
(4) TER (4) Hyderabad
(5) I T <A e (5) Not attempted :
8. Twal TRl & IR Frefataa o W 9 | 8. Consider the following statements about
Hied | FATFETRITR e, I Democratic Governments. Which statement
(1) Sas o S dedd & w9 S ismog correct 7
(1) -~ Democracy is also known as
ki representative democracy
2) ﬁlﬂim*ﬁmmmﬁﬂaﬁmiﬂ | (2) Democracy guarantees universal adult
% franchise
(3) TaA § w0l el 3T A %1 fraffed & ‘ (3)  In democracy people have power to elect
1 IFREA T their leaders |
AT Tl STeTaA F EUH ot :;[ﬁ[ Erﬁﬂ’ %| | l(4)' Democracy is also known as Oligarchy
(5) TG & TR : o (5) Not attempted
, .
9. Y& H e ug' T Fel Tal & 2 | | 9.  Why Earth is called the ‘blue planet’?
(1) Fiife 798 e ¢ . (1) Because it has life. |
e o E»?IWE qﬁ} ro (2) Because more than 91% of the Earth is
@) Wﬁﬁqﬁl Vi ' covered with water.
4 (3) Because it is blue in colour.
@) = TEw T e &1 (4) Because more than 71% of the Earth is
(4) E2UE Eﬁ( &1 71 wfavE | ﬂfﬂ'q:" it | | covered with water.
- FrBIea 2 | (5) Not attempted
(5) S AE <N Aed |
10. Inwhich year did Gandhiji arrive in India from
10, Tifefeh <fgm srwiE | wia § fee o § | e | South Africa ?
g7 . | (1) 1917
/(a): 1917 | (2) 1921
(2) 1921 | (3) 1907
8) 1907 @) 1915
(;]1 ::Sqﬁ o =R (5) Not attempted
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N
WIS ﬁ?mﬁﬁﬁ frer ) i 0 ¥ fog fafen | 11 To decide Ind'ia’a Politic ¢
TR N 1927 4 e s 3 Sy o, Fore g oy e i Englang ' ture, |
- THh ) . in 1927, which wag heﬂdt?j&nt > ncuh!: h
7 oy (1)  Lord Hastings By: ~Mm
/ﬂ) e ™ (2) Lord Simon
2) e aEEE (3) General Dyer
(3) ST S | (4) Robert Clive
(4) A2 TS (5) Not attempted

12. Correctly match the followin,

3R List - I List .
2 RN , (A)  Ryot (1) Vi“ag:_.l
| (B) Mahal ()  Peagay,
(A) , (C) Nijj (1) Cultivgg,
(B) lands " °nR
(C) (D) Ryoti (V) Cultivay,,
(D) Planters 0w gy
- Choose the correct answer f,
= feu o fasmedl | Q@ |& W 1 =9 SIS bans ™ op
(1)  (A)-(111), (B)-(I), (C)-(IV), (D)-(I) (1)  (A)-(IID), (B)-(I), (C)-(IV), (D)-n)
(2) _(A)-(1), (B)-(IV), (C)-(1I), (D)-(11) 2)  (A)-(D), (B)-(IV), (C)-(IN), (D)-{m)
AT ()-V), (B)-{1I, (C)-(), (D)-0) (3)  (A)-(IV), (B)-(I11), (C)-(1), (D}
@ A)-, B)-0), (C)-1V), (2)-( @) (&), (B)-(1), (C)-(V), (D))
(5) SR TR < AR (5) Not attempted
13. Torg TeEiy F el &1 HeT waE aifue © 2 | 13. Which continent has the highest nis
(1) - TEIET ' countries ?
' (1) Africa
2) <l K (2) South America
A3 TR (3) Asia
(4) 90 (4) Europe
(5) STl <A dred (5) Not attempted
M
14. Tog T | 9 dfedn el 91 S € 2 14. The finest cricket bats arc made I
' wood ?
/(1) < -« (1) Banyan tree
(2) foeni - 3% (2) Willow tree
(3) dIg -3 | (3) Palm tree
(4) g - 34 (4) Pine tree
(5) I T < AR L (5) Not attempted
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15, TE TRRE WHNMRTT W 3R v 3 forwwz ford A

33 T Afeenell gr1 e s @, fra wE
TeT H W Q& 2

(1) fe '
2) e

_B) el

@) T

(5) 3T FE < =R

16. 3 T < Tt feremw A F Agw W E

Wpia: _ __ B ®I
(1) SERA
(2) STt a1 &RE
PR
(4) &RY
(5) SuXTE <A1 =R
17. - TS % YRR &1 GH AT Bl € -
(1) 98.4°C
98°C
(4) 37°C
(5) SO el o Hed .
18. Freifefaa § @ Fi @ % g9 999§ qerdd S
g2 : -
(1) EeE -
)2) Tihe T I
(3) fesrenfa
(4) Tl TE HIVTRTE
(5) SR T &A1 A
19. ﬁaﬁﬁﬂﬁﬂﬁﬂlﬂﬁﬁ?ﬁﬂﬂ??
(1) =AM-gaT
()
@) He A
(4) wEwadEl
(5) @t T & e

16.

16.

17.

18,

19.

un by cight
¢ district,
hich local

Khabar Lahriya, a newspaper T
Dalit Women in Chitrakoo
Uttar Pradesh, comcs out in W

language ?
(1) Pishonli
(2) Awadhi
(3) Bundecli
(4) Tulu

(5) Not attempted

which turn red litmus into

The substances
in nature.

blue are
(1) Neutral
(2) Acidic or Basic

(3) ﬁCidit:‘.
(4) Basic
(5) Not attempted
The normal temperature of human body is :
(1) 98.4°C
(2) 98°C
(3) 35°C
(4) 87°C

(5) Not attempted

i

Which of the following helps in clotting of
blood ?

(1) Platelets
(2) White Blood Cells

- (3) Haemoglobin

(4) Red Blood Corpuscles
(5) Not attempted

Which is the most common carrier of
communicable diseases ?

(1) Dragonfly
(2) Ant

(3) Housefly
(4)  Fruitfly

(5) Not attempted
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20. 3 ynfedl = uw fagm am § @ o o € o€ | 20

Fed B
(1) Ehem=
AR)  enfis
(3) TEw
(4) fagqa
(5) SRl & =med

<1l. Ihwmaﬁﬁamgwwﬁ:
(1) e
2) Hfeaw
A3) TR
(4) Il
(5) U@l <A1 =med
22. - 15 fEu T A i wHem - 1 feg T HE F

g gafed Sifsia |

I I
(A) ARSI ) eller qTH
B) ESIfaaw (1) OTSiat GiE
(C) SHEd (I11) 9l
D) frewde  S(1v) W de
wd fasey 9 :

23.

1) (A)-), (B)-), (€)-(V), (D)-()
2 (A)-(n), @®)-a, (O, D)
@) (A)-m), B)-(), (C)-), (D)-(IV)
@) (A)-), B)-(11), (O)-(D), (P)-(IV)

(5) SR el ol =

D) 7% _
%mmﬁﬁﬁﬁﬂuﬁrmmaﬁ?aﬁm:
(110, (B)-(11), (C)-(1V), (D)-

LA e (111), (C)-(11), (D)-(IV)

A)-(1), (B)-
@ G-an, -0, (C-m), (D-1V)

Species found only jp

known as : 2 Pap,
(1) Endangered

| (2) Endemic
(3) Rare

(4) Extinct
(5) Notattempted

| 21. Select the non-metal frop, the

(1) Iron
(2) Sodium
| 43) Sulphur
' (4) Copper
(5) Not attempted

22. Match the items given in gy,
those in Column - II,

I
(A) Chloroplast (I} L
pla
() Rhizobium (II) Pa
(C) Cuscuta | (ITI) Le;
(D) Pitcher plant (IV) Ins
pla

Choose the correct options beln
(1] [AJ'"H): {B]“(H), ‘C)'[M: [DI'
(3)  (A)-(111), (B)-(1), (C)-(11), DM
(4)  (A)-(111), (B)-(11), (C)-(1), O
(5) Not attempted

Match the items in Column - I«w
Column - II:

I [
(A) Typhoid () w’:':
(B) Hepatitis A (11) Fuz
(C) Malaria (I11) Ba%
(D) Wheat rust v) P

free
Choose the correct answer

below : o
(1) (A)-(111), (B)-(I0), (c)-(v), "

2)  (A)-(D), (B)-(111), (C)-(1); (g}l_‘[*?f
@) (A)-(1), (B)-(1), (C)-(1): ok
@) (-, (B)-(), (©)-(V)

(3) -(N, (C)-(IV), (D)-(II)
/P;T gg{%}g’%{ | (5) Not attempted
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a1 | 24. If a body covers 100 km in 5 hours its speed

24. ﬂﬁ'ﬁﬁgmomaﬁgﬁsﬁﬁﬁﬁﬂm% will be :
! TR _ & (1) 20 km/hour
A1) 20 fwf./Ha B (2) 500 km/hour
(2) 500 f@wHt /8 (3) 20 meter/hour
(3) 20 H/HA (4) 20 centimeter/hour
4) 20 ﬁi\‘—‘ﬂﬂ/ﬁa I (5) Not attempted
LTS "'ﬁa’““ﬁ | 25. Which. 18 ;he best conductor of heat from the
g aEE e ? | following
25. W F Y B I F T | 5 Bl
0, | (2) Aluminium
() g | ™
(3) IS : (4) Kerosene
i | - (5)  Not attempted
(5) S o - _
l 26. Night blindness is caused due to the
26. Il F Fh & F A € deficiency of :
(1) feafFcC | | (1) - Vitamin C :
i @) viamin
. forerfe ; :i; V:t:iin B
gk A & ' Not attempted
(5) < 7e] o 9med .' | (5) ot attempte
27 ﬁmmﬁaﬁ'ﬂﬁﬁﬁzﬁﬁwﬂaﬁrﬁm 27. funl;:eigrt;iclz]l;db;eathe through network of air
A | , | | -
X, 5\ A - (1) Diaphragm
fﬂﬁﬂ . _ ' _
1) | (2) Stomata
o o Cs. + (3) Gill -
}31’ ' A - (4) Trachea
(4) | | (5) Not attempted
(5) T E <A AEd -

28. Which of the following is mot a deficiency

28 ﬁﬁmﬂﬂﬂﬂ?mmﬂﬁﬁﬂﬂﬂﬂﬁ%? disease ?
| /({ S - | (1) Goitre
2) i (2) Scurvy
(3) Anaemia
(3) E;”ﬁ (4) Malaria
(4) e 1 7 TR | ~ (5) Not attempted
(5)
" ;@14 ¥ [0 7414/ SPACE FOR ROUGH WORK Page 7
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29, ﬁﬂ!ﬁf@ﬁﬁﬂaﬁqmuﬁmhmm%?
(”/ﬂﬁ‘
/ll LU
B) y=l

4) 9
(5) W TE TR

30. e - I H fow Mo W ) wwvem - 1,  few o

%m%ﬂﬁ:

I - (9re 3im) I - ( wifeRar)
(A) O 3 WIS T4
B) =& 3N ‘ sfrem 1 facire
(C) FT_——X () ¥ E sawi
(D) V) W 19
uﬂﬁmqﬁq:

(1) (A)-(I), (B)-(IV), (C)-(n), (D)-(1m)

y(z’ (A)-(1LI), (B)-(IV), (C)-(11), (D)-(1)
(3)  (A)-(IV), (B)-(IT1), (C)-(1), (D)-(11)

30.

| 29,

The planet which appears reddish in Colgy,
is :
(1)
(2)
(3)
(4)
()

Venus

Mars

Earth
Mercury

Not attempted

Match the items given in Column - I With
those in Column - II :

I - (Digestive Organ) I - (Process)
(A) Small Intestine (I) Chewing of food
(B) Large Intestine (II) Churningoffood
(C) Stomach (ITI) Absorption of

food
(D)  Mouth (IV) Formation of
faeces

Choose the correct options below :
(1) (A)-(T), (B)-(IV), (C)-(I), (D)-(I1)
(2)  (A)-(II), (B)-(IV), (C)-(11), (D)-(1)

(3)  (A)-(IV), (B)-(I), (C)-(1I), (D)-(11) (3) (A)-(IV), (B)-(II1), (C)-(T), (D)-(11)
(5) IR <A 9@ | 4 (A)-(V), (B)-(I), (C)-(1m1), (D)-(11)
(5) Not attempted
31. TIhYA 33 ag 3 Freahd (1) 87K (o) feg e &
feu ¢ Fo 1§ WAd ?{ﬂ%& SM FAded | 31, Two statements are given, followed by two
g fim & i 7 wdita 81d &, fofa =1 5 25 w1/3 conclusions (I) and (II). Assuming the
P e T el 26 STTHT R T T ) Fopern Statements to be true even if they seem tol®
s 2% at variance from the commonly known facts
fAREZSE 4 decide which of the conclusions logicallf
FI7 - 59 Fd Hofadl ¢ | follow(s) from the given statements.
qum.gl Statements : Some dogs are fishes.
frad: () F9F0 9T . Some fishes are birds.
m T T onclusions: (I} Some dogs are bird®
(1) fed (1) 301 (11) <A1 feretd § | (1) Both cunclul:]iu ‘S:me birda are 058
. Erord ns
_ s tHher conclusion (1) nor (11) follows
(3) Faa frewd (1) Fdem g (3)  Only conclusion (1) follows
(4) e faeRd (1) Fever 4 (4 Only conclusion (IT) follows
(5) W Erd| 291 9Ed (5)  Not attempted
- S — — . o
HANTV / F2 70 B % fer 227t | SPACE FOR ROUGH WORK —at!
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32. 36 ey &1 997 FY S FFL U A I yHR waftg | 32.  Choose the option which is related to the third

33.

34.

¢ S T 92 YR U @ Hafid €1
TS WAl g/1: 2

(1) W

(2)

TRHEES
AT
i

(4)
(5) S <A1 =9Ra

fauem &1 =9+ Sifsw |
(1) i
() dn
(3) IR

}yaﬁ?ﬂ

(5) ST TR < 9

T it sl ¥ e ) srerafiuq wW ¥ e T

%lﬁ@ﬂﬁ?ﬂ@ﬁﬂﬂéﬂﬁmﬁimﬂl

e <l HARYT T WH AU [ a1
L N S A I G |
i: 2,0 3 545056
(1) 3,5,4,2,6,1
2,6,3,1,4,5
3) 5,4,2,1,6,3
4 3,5,6,2,4,1
(5) I & =wed

OTURONTHG’ feral v &, o st Fewmn &
DELHI’ %1 #1 feran smqm ?

(1) FCNFK

(2) FCNGJ

r/m FDMGK
(4) FDNGK
(5) I & A"
HANTV / F2

33.

34.

35. 7fe uw fafvgd Fewrd § ‘MUSSOORIE’ & | 38

<0 w1 3 110 22Tl / SPACE FOR ROUGH WORK

term in the same way as the second term is
related to the first.

Mosquito : Malaria: : Rat: _2

(1) Rabies
(2) Typhoid
(3) Plague
(4) Dengue

(5) Not attempted

Find the odd one out.
(1)  Sparrow

(2) Parrot

(3) Pigeon

(4) Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of

numbers so that the letters arranged
accordingly form a meaningful word.

LN S A1 @G
{ 2 3 4 5 6
(1) 3,5,4,2,6,1
2 2,6,3,1,4,5
3) 5,4,2,1,6,3
4) 3,5,6,2,4,1
(5) 'Nnt attempted

If in a certain code language MUSSOORIE’ is

written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1) FCNFK
(2) FCNGJ
(3) FDMGK
(4) FDNGK -

(5) Not attempted
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36. ﬂﬁﬁﬂéﬁﬁmﬁtﬁlmﬁﬁmmmmm

36. Read the following information to answe, the
A*"BH YR, 'B, A w3 question below :
ASBHFaE ‘A Eﬁ‘;icl:t A * B means B is the brother of A’,
A # B & at¢d %'- | ﬂ,: | A ¢ B means ‘A is the wife of B’
APPSO mpgrd-ch e A # B means B is the son of A’.
s Q*R# 8% @™ fom w0 =17 1 Fom P $Q* R # ' then, which of the folloyip,
il statements is true ?
(1) R Q% frm | (1) Ris the father of Q
@ 8, QF wdrm ¥ (2) S is the nephew of Q
(3) S, PHRIHRI (3) SisthesonofP
‘)5” R, P a?“ﬂﬁ? gl (4) R is the father-in-law of P
(5) S 7@l <1 WIed (5) Not attempted
S7. f‘hlé I ﬁ?jtaqa i 1 I Fi K| 37. Find the missing term ? in the series
1 1 1 ,
125, 25,5, _? , =, —. 1 1 1
o 25 125 125, 28.5, ? , =9 55’ 125
(1) 1
) -2 (1) 1
A3 2 2 -2
® -1 @) 2
(5) I TE < 9 4 -1
38. W24 m YIYaw &1 3K Fer F 91 37T g [ (5) = Notattempted
24;;1#[ > %ma;:ﬁ 31‘@ mm :‘j{m? 38. OSarita walks 24 m towards West, then tums
- 3 EIE.’ _ I IEHT24 m | to her right and walks 24 m and then turnsto
gftan 31a 3+ iy fag | Tl e fa fam her left and walks 16 m. Again she tums!to
TE? :iler left and walks 24 m. How far and in which
irection is Sarita from her starting point ?
0 Onw -
m
’ (2) 40 m, West
’){;}/ 32 m, 3 () 32m North .
(4) 48 m, IR (4) 48 m, West
(5) I FEl & e | (5)  Not attempted
39- E’E’ﬁﬁp, QtRl S,Taﬁ'{UWﬁaﬂ(ﬁﬂm.ﬁ 39 . . o
o 3§ @E ¥, i oTavas T ¢ R SH AR AR | g'fni"?:s;:ﬁr& i,':‘and U are;t;nd;ﬂs;
" & (T SfF ut not neces
‘S’%Wﬁ%ﬁ? ‘S’, U?'q;.mm%' (Q’ # qg:lFil I'lght ﬂ:f :R'_ ‘-Ql'is on thﬂ ﬁght Df T-r but tu'[hc
FAE? left of ‘S’ who is to the left of U’. Who are %
& e | neighbours of ‘Q’ ?
] -Tepes (1) Tands
(2) PHMR 2) PandR
(3 T#mMU 3) Tandu
(4) PemT 4) PandT
(5) < TE < e ) | (5)  Not attempteq
HANTV / F2 3% arel & feTC et / SPACE FOR ROUGH WORK oage 1
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40. forgiery 7 STIfeA e WP & R YEER T

41.

42.

=

43.

HANTV /F2

sﬁnﬁ%mﬁmﬁwﬁﬁmmm%l FRED

¥ s & feis 8 ?
(1) 22
2) 15
5 23
(4 21
(5) ST TR o Wed
(0.5X%0.5+0.5+5) FEE:
(1) 0.35
(2) 0.45
(3) 0.15
0.25
(5) S TE <A dned
FHgEnsi 2p, 5paN7 pH LCM. €:
(1) 75p
70 p3
(3) 70p
(4) 65p

(5) W el ol =

1
frg T W 3%% e X 25 F T A

A T210%?

B 72,800
(2) %2,500
(3) %1,580
(4) Z2,400

(5) @ T Al ed

40.

41.

q2.

43.

2 o 7l b @ o quiler &, A Fre H A FA-W e | 44,

&

(1) a+0=0+a=a
(2) a-0=az0-a
(3) a+b=b+a
f_(!-‘-‘i) a-b=b-a

(5) o e & =ed

Priyvanka’s birthday falls on the third FridB:_F
of a month. The fourth day of that month 1s
the first Monday of the month. What is the
date of Priyanka’s birthday ?

(1) 22nd
(2) 15th
(3) 23
(4) 218t
(5] Not attempted

(0.5%x0.5+0.5+5)isequal to:
(1) 0.35

(2) 0.45

(3) 0.15

(4 0.25

(5) Not attempted

' The L.C.M. of three numbers 2 p, S pand 7 p

isf:
(1)
(2)

75p

70 p3

(3) 70p

(40 6Sp

(5) Not attempted

For which sum, the simple interest at the rate

1
of S—i-%pcrannumwiﬂbe?m(lin 2*5 years ?

(1) 2,800
(2) 2,500
(3) 1,580
(4) 2,400
(5) Not attempted

If a and b are two distinct integers, then which
of the following is incorrect ?

(1) a+0=0+a=a
(2) a—-0=a#0-a
(3) a-+b=b+a
(4) a-b=b-a
(5) Not attempted
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45, : ia,
%“iﬂ:ﬁ " 8 e fnfr e i | 46
ﬁmm?sﬂm?ﬂimﬁnmﬁmﬁm
‘. LR S IR SR R
(1) 1:92
(2), 2:3
2:1
4 5:11
O) W &9
46. MH@MWWM%GS%.%W%I 46.
mmmmmﬁa@m%:
(1 13:8
(2 13:10
(3] 10:13
J{S:IS
(5) SWFE T e
47. 10 mx 10 mx 5 m foai amd et & vt o e |
el T | o O F e "
(1 1042 m
/(‘2, 5\/5111
(3 153 m
4 15m
(5) S R <A e

48, fwa= 9ul §, T 800 &1 TR 10% dMft TG ==

A certnin number is divided into 1y,
such that 5 times the lirst part ntleley
times the second part makes 7 i,
number. The ratio of the first pary

second part is

"“"-‘a
ll] II
51,
0 1l

1) 1:2

2) 2:3

< | R HE

4 5:11

5)  Not attempted

Halfl of a certain number 18 equal to 65% o
the second number. The ratio of the |

, s
number to the second number is :

(1) 13:8

(2) 13:10

(3) 10:13

(4) 8:13

(5) Not attempted

The length of the longest rod that can be place
in a room of dimensions 10 mX 10 mx5mis:

(1)~ 102 m

2 5/3m

3) 153 m

(4) 15m

(5) Not attempted

O ) | ‘ " 5 o 48. In how many years will a sum of 2 800 at 10%
| H, 8¢ ST e Per annum compound interest, compounds
o B & semi-annually become ¥ 926.10 ?
(1) 23 (1) 23 years
2L o :
@ 23 @) 23 years
11 g 1
/f‘ 3 B) 13 years
4) l*l- a4 1 l
( > (4 5 vears
(5) I AE <A1 e (5)  Not attempteq
- . “T ——— _—--—-\___________./
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20 litren of n mixture contains milk and water
Inthe rantio 3 ¢ 1, The amount of milk to be
ndded (o the mixture no ns to make the ratio

1:1,in:

(1) 5 litren
(2) G litres
(3) 7 litres
(4) 4 litres
(5) Not attempted

. . . ruzxa2+am
Simplilication 01 57761 + 0.02

pives .

41
(1)~ \"%
9
(2) 75
| 2
<)
p 2
(4) 713
(5) Not attempted

If the selling price of an article is 3 times its

cost price, then the profit % in the transaction
is :

(1) 25%%
(2) 331%
3
(3) 16%—%
20~ %
(4) 203
(5) Not altempted

o, 20 T TH aw WA & A N gy e el o | 49
ol I 3¢ 1 ¥ vy fiymm W fwam g 3i\T mren s
f AT OTAYIA 4 ¢ 1 TS0 7 |
(1) 5@
(2) 6EIA ‘
#JWfTﬁH
(4) 4 TIX
(5) IR TG A A6
50.
) 0.2%0.2 + 0.01 -y vt vy W, Wt B :
* 0.1x0.1+0.02
4
/&1/ 4
. |
2 3
S
B 3 I
41
4 13
(5) W T oA =ed
4  51.
i1, uﬁﬁdﬁa@mﬁmq@mmq@aﬂg{m'
T, W 39 U § oy wiawe ©
(1) 25~
) 5 /0
@) 33ie
3
2'.!
(3) 163,@
@~ 201y
2
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. :;Emm g T 10 167 ¥ 2w 8, B 34l 52. Acando '.:T of awork in 10 days, B can
DT 40% T F 20 &7 w1 & s o
C 3491 |
1 b in 20 days and C cando -
maﬂgmmsfa?ﬁimmﬁlﬁﬁﬁqm ol wark Jo SR A | 3¢
: work in 13 days. Who can compiete the y,
?imaﬁua@rmwﬁmm%? work in minimum time ?
, .
. (1) €
A Tl
@ B (3 A
. (4) B
(5) W T < =R
(5) Not attempted
53. I (a+b) : : —rr T
+b(a 13] %(b.a;'c) - {C+a]“‘6 HB - B'ﬂ?ﬂ 53 If [ﬂ'!“b) : (b+c) . (C+a)=6 £ T 81:"1:
a+b+c=14% dct: a+b+c=14,thencis:
(1) 8
(1) 8
2) 1
:3; 64 4 @ 14
)4_)/ . B 6
4) 7
(5) S TR < =@ ¢
(5) Not attempted
54. A, B a9 C A fHeeR @& AR E T 50,000 T . | |
MG AT B AR 4,000 AFFEFMAMNBACEH |~ o Atci'ﬁil:;dm;isgﬂgo? o
y ; y more
% 5,000 3fEeR @M, 9% 35,000 % FA AW A and B invested ¥ 5,000 more than C. Outo
A FTHM S : total profit of ¥ 35,000, A received :
4 13,600 (1) 13,600
2) T14,700 (2) 14,700
(3) ¥8,400 (3) 8,400
(4) ¥11,900 (4) ¥11,900
(5) SR & &l = (5)  Not attempteq
55. T&h FR 1 & § 20 T e i RHI/521 | 85. A car 80es 20 metres in a d. Its spe
i ~ ; second.
THE A % ¢ In km/h is :
2) 20 (2) 20
(3) 18 B) 18
A T2 . (4) 72
(5) 3T :‘]ﬁ ﬁ‘ﬂ Hﬁ"ﬁ (5) Not Httempted
HANTV | F2 7t aprel & fore 2erm / SPACE FOR ROUGH WoRk Fa'éﬁ
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: : 61. Pick out the synonym of the underlined word
ternative which best expresses . _
t(.:hh Du?':ﬂ;h;;lt:ncﬂ in Active Voice. in the following sentence.
Thce gllwitatinn cards will be sent tnf:lﬂ}’- ' The cellphone industry has ushered a new
They will be sending the invitation phase of communication.
/Ll cards today. e L q (1) heralded
(2) They will send the invitation cards (2) ollapsed
today:. - 4s toda completed J
(3) Theywill sent the invitation carcs narc{s: [4) given up
(4) They will have sent the invitation © (5) Not attempted
today. | _ |
(5) Not attempted 62. Fill in the blank with the appropriate option
. iven below.
Choose the most appropriate alternative to fill lg;ynu o confidence in self, you
in the blank. - are twice defeated in life.
The noise comes from the river. _/(‘11 s
(1} ovex (2) having
across | 3) has
‘Jg{ against | :4) had not
besides )
F;; Not attempted (5) Notattempted

Choose the alternative which best expresses

Find out the correct indirect speech of the | 63. o aning of the N derlined idiom.

e

guﬁg';n;zzc;ﬂw Gﬁﬂnﬂﬁ 7 He had to confess his crime because he was
€ ’
(1) He asked me if | knew German. ‘ caught red i‘lﬂﬂdﬁé

(2) 1 asked him if he knew German.

)3']’ He asked me to know German.
(4) He asked me if he knew German.

(5) Not attempted

(1) _Caught very late .

" Caught while doing the crime
(3) Caught sleeping
(4) Caught easily

). Find out the part of the sentence which has (5) Not attempted

an error.
If he is a millionaire, he would help - |
- (a) (b)

64. Pick out the correctly gpelt word.

'/uf)" minipulation

K ¢ (2) manipeulation
the Millennium Project - in the future . - - (3) manipulation
() (a} (4) menipulation

(1) (¢
(2) (d)
(3) (a)

(5) Not attempted

-

65. Choose the most appropriate option to fill in

4V (b the blank.
5) Notattempted Many beggars sat _ the wall of the
temple.
0. Find out the antonym of ‘absurd" (1) along

(1)  sane /‘2.,’ in

J{ refuse (3) on
8)  silly (4) besides

) anxious (5) Not attempted

5) Not attempted
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bl

mi ) Hmmﬁﬁwﬁ%?ﬂmm 71, Freifea e 9 GG Y1 P 5
0 i |
() 3 T & s A 7
@) WhRww A /{[j]* 4
eﬁ”@“ﬁ'%ﬂﬁm%: "
5) IR (5) I T ol Hed
: , il 4z 72. ‘S THF Wik THAH ' TR B 375 3
67. 3N ¥ ¥ A & ¥ o ¥ Yaifeq s &
foe, yatfisen S e & (1) 7o 3 o A 2
A T oy e T e
2) fovargeri (3) I 3R WHRO &l eIl HEl
(3) forvaram (4) ¥ O, T B
(4) fovam (5) ST el oAl =R
(5) SWTE MR
73. feu U forg 9ISt A Y[ T ©
68. 'H{ IawT o forw H &t J,u/mqﬁm
Hﬁﬂ%f@mﬁﬁﬁ?mm@%qﬂhﬁﬁ 2)
TR R : (3) uﬁrﬁﬁr
(1) el (4)
(2) (5) ST < =R
(B ==&
G 74. Waﬂimﬂ?ﬁﬁﬁnwaﬁﬁ*mﬁawﬁﬁ
(5) SR o =ed R7?
- (1) 3mR
0. ‘TR At |
(1) dRfEHRTE = o
@) g A FRATI @) o afe
(3) FHfaa afitgd HTl :
” g At = F ) IR Wy
5 3dC e o A -
™ | ™ :j’wm-mﬁmmmmaﬁaaﬂ
0. ‘Wﬂf’ﬁ?ﬂaﬁwwﬁq-ﬁﬁ%: (1‘
(1) 7 + A ] i@aﬁﬂﬁaﬁ%‘l
ﬂ/tr{tHaﬁ 2) FﬁWﬁWﬁm
(3) ‘q1+1iﬁﬂi 3) maﬁmm%
(4) q + T4 A ag@ﬂﬁﬁﬁm
(5) IqT el A1 Fed (5) Wﬂﬁhmﬁ
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76 B A ‘werl TMa STH nitg' 4 & 3=d | 76. How many villages are approximately covered

oy o o T 7| St O 8 S e Goon
c/”"/ T (1) 5,300
) 4,200 (2) 4,200
@ 6500 (3) 6,500
6000 (4) 6,000
5) I LA " (5) Not attempted
7. I TE T ﬁamﬂ-:'a"a'qﬁ P e 77. Consider the following statements in respect
W faER Il - of Motilal Nehru School of Sports.
(a) €@, Wrivd # feud 1 (a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.
Which of the above statement/s is/are

b T @ARTEL TS T

mﬁﬁﬁ'ﬂ/ﬂmuﬁ%}%? correct ?
(1) (a) 3 (b) S (1) Both (a) and (b)
@ AN (@) AR (b) (2)  Neither (a) nor (b)
F9d (a) (3) (a)only
- (4) FEd (b) f 7(4) (b) only
(5) SRAE ey (5) Not attempted
; : . What is th ximate percentage of rural
8. @ Hi T SHEE T il Fel STTaeA! &l 19 pu;u;:tiﬂfl agi‘m:he total population of
< fehen wfera § 2 ~ Haryana ?
(1) S0% | (1) 50%
) 45% (2) 45%
(3) 65% | (3) 65%
(4) 55% @ 55%
(5) Sa T S A | (5) Not attempted

19, zfeamn 2K urE 9 faare 37 & fog wEE Heamd 79. Bhainswal Kalan, famous for giving sportsmen

ol fa foe 1 feaa 872 o to Haryana and to India is situated in which
AT district ?
\./m . (1) Bhiwani
2 W (2) Sonipat
9 T (3) Rohtak
(4) T (4) Karnal

(5) W TR N =R ‘ (5) Not attempted
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80. freififan ¥ @ wh-m wam s wfeen @ | 80

faenfea & forg s sm @ 2
(2) YRmER
)Vtﬁﬁmﬁ

(4) T¥IH

(5) IWTE 3 =red

g81. frefafEs wuHi W faar Fifsm)
(a) TEA SO Eret o F 7
(b) e Ay fis § fea 2
Swdag # @ FH-T/Q T R /82

J/(a)aﬂubmﬁf

(2) T (a) ARTH (b)

(3) <9 (a)
(4) had (b)
(5) S L <A =ed
82. ﬁﬁﬁﬁﬂﬁ?—mmﬂiﬂﬁ’lﬁ??
""--('I{ .
j;b L
(3) s
(4) I
(5) S AE &A1 A1
g3, e feg @y ol T4 o1 7
AN 1971 |
(2) 1963 1
(3) 1962
(4) 1966
(5) TR TE oA e
84, g f e wo Frart 8 €7
(1) 92
(2) a4
(3) 88
90

one of the following places ig .

Which Hockey players ?

for Indian Women
(1) panchkula
(2) Shahbad

(3) Faridabad
(4) Gurugram
(5) Not attempted

Consider the following statements.

81. . . ® #
(a) Masani barrage 18 1n Rf:w-ran distr;
(b) Kaushalya Dam is in Pinjore.
Which of.the above statement/s s
correct ?
(1) Both (a)and (b)
| {2 Neither () nor (b)
(3) (a)only
(4 (bonly
(5) Notattempted
82. Which of the following is not a dance for
Haryana ?
(1) Loor
(2) Khoria
| (3) Talghadi
(4) Phag
5) Not attempted
83. In which year Haryana was made as 2
fledged State ?
(1) 1971
(2)" 1963
(3) 1962
(4) 1966
| (5) Not attempted
s iilrﬁrgg;gznfabha Constituenci¢®
(1) 92
(2) o4
3) 8s
(4) 90

e
(5) IO <A B) Not attempteg
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Who amongst the following former UPSC
members was an [IAS Officer of Haryana

ﬁmmﬁmmma:m Cadre ?

OF, (1) Mata Prashad

(1) LIGIEEIN (2) Subir Dutta

(2~ @Tfm (3) P.C.Hota

(3) 1.4l il (4) S.K Mishra

4) TEH faan (5) Not attempted
TR e & e

e 12
ﬁmﬁﬁﬁﬁﬁﬁmaﬁwwmﬂ BS  iy ayutet

TE 7

(1) T O
(p) Ty ot

@) wrEE o
(4) o womet
(5) SO ol =

. Which of Haryana ?

. (1) Thé Yamuna system

(2) The Indus system
(3) The Bhakra system

(4) The Lift system
(5) Not attempted

amongst the following is not a canal

following districts of Haryana

,  Frofatea § § e@mn & HHE 1 e doma &R ST 1haii2:n§:£$?‘ both with Punjab and
Wﬁmmmm%? Rajasthan ?
(1) T&ER (1) Hissar
o fa (2) Sirsa
(3) FUA (3) Kaithal
4) TS * (4) Jind
(5) <SW &l &1 = (t?] Not attemPtcd

8. 2R F T T FA W2

Ny &

(2)

"

&;/mfsm

(4)
(5)

Tt
IO e o1 9

88. The State Animal of Haryana is :
(1) Camel
(2) Tiger
(3) Black buck
(4) Elephant
(5) Not attempted
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T T &2
(1)~

(2) =@

@) T

G i

(5) ST T e

90. R g a=eita 31vaRvy wet srafiem & 2

(1) wagen

2)

(B) o

(4) i

91.

92.

(5) SWE <1 =R

"Fifd =% qEER fosia =1 fva e T 4

Tfer <t <t € 2
J” %75,00,000
(2) ¥25,00,000
(3) ¥51,00,000
(4) ¥1,00,00,001

(5) SR oAl =

Pl Wi g el srareud €2
- d HIGT, GEg el

(2) & fuEm

(3) Tl FEE

(4) &R

89.

90.

91.

92.

h amongst the following is not b

g§;ana's traditional attire ?
(1) Daaman

(2) Chorno

(3) Pagri

(4) Chunder

(5) Not attempted

located ?
(1) Panchkula

(2) Karnal
(3) Kaithal
(4) Jind

(5) Not attempted

What is the one-time cash amount give
the “Kirti Chakra” awardee ?

(1) <75,00,000
(2) ¥25,00,000
(3) <51,00,000
(4) 1,00,00,001°
(5) Not attempted

Where is Chinkara breeding centre locatt
(1) Momi, Panchkula

(2) Kairu, Bhiwani

() Pipli, Kurukshetra

(4) Hissar

() Not attempteg

93, TG WA WeAT T el ared g2 o };’é‘aﬂt‘; ifl :E;E alr;stitute of Manager™
(1) farar (1)  Bhiwanj
(2) HC | (2)  Karnal
(3) wEFAl 3)  Panchky)a
(4) T | ) Rohtak
(5 maﬁwa@_‘ _ ()  Not attempteg
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35 R ol T e SR g A
frq e W a7

b

(1) FEHA
(2) ARTER
(3) e
g T
(5) Wﬁﬁmﬂ?ﬂ

wpﬁa;mﬂg:q#aﬁmﬁﬁﬁ’)?
AT Wi

(2) TEERI @ ANl

(3)  TRERI S W=

@ wmmm%a'

(5) SR TR ol e

(1)

6. Wﬂﬁmg@ﬁmﬁ@aﬁﬂmﬁaﬁaw-

q1?

A ST i e A
() T g fie el SiiE
(3) X e 3R ST
(4) TR Ve ST=ell TR TS
(5) SO TE ol dred

97. WoI® ure oS- fga ' fafy ﬁm&ﬁmwﬁﬂ 97.

o § e & w9 H A S € 7

(1) S0 ATAER
(2)/" < HTEER
(3) & WIER
(4) GEUHTCAR
(5) IO E &1 =ed

HANTV/F2

94. Two most important monuments of the State

o e ) TEER G S e e fHE T | s,

96.

TG &1 & 1210 2T / SPACE FOR ROUGH WORK

(1)

‘The LAT and the Humayun Mosque’ are
located at which place ?

(1)
(2)
(3)
(4)
(5)

Kurukshetra
Naurangabad
Fatehabad
Mahendragarh

Not attempted

, . e
Identify the place where Guru Gﬂbmd_ Smg_
stayedfyfnr 52 days after the battle with Hill

Kings ?
(1) Dhamtana Sahib
Gurudwara Lakhan Majra

(2)
(3)  Gurudwara Kapal Mochan

| (4) Gurudwara Damdama Sahib
(5) Not attempted

The Third Battle of Panipat took place
between :

Shah Alam and Muhammad Shah

(2) Guru Gobind Singh and Aurangzeb

(3) Nadar Shah and Aurangzeb

(4) Ahmad Shah Abdali and the Marathas
(5) Not attempted

Which day of every month is celebrated as
“Tithi Bhojan Beti Ka Janmadin School me

Abhinandan” ?

(1) 3™ Tuesday
(2) 4th Tuesday
(3) 1St Tuesday
(4) 2nd Tuesday
(5) Not attempted
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O8.

Waﬂ'qﬂmﬁ(ﬂ—é’ QGQQ%WW‘F&W
A (THETNT-2030) wifet w0 o wfamn o &
- TH ¥ 2

(1) a1

(2) o=EEr

(3) H&a
‘/lj,)«-'éﬁw

99,

100. Tl i R

(5) S TEl < =Ed
ST T 1 T T AT - favar U & aR A
fafafag oAl ) =R Sifsu
(@) 21 99 3R EQ 31feer 3ng Ht Agen 9= 2
(b) 3T T 1,800 Wfd [rE v fean St §
Syda § | HA-91/Q HeE qE 832
(1) (a) 3R (b) A
(2) A (a) ARTE (b)
(3 ()
(4) had (b)
(5) ST AR &A1 =R

SIRGRS D) F IR H FAfarEd

99.

100.

)

Ldia’s Environment Repﬁ” ,

As per 'thEtLE rank of Haryana Sty
W}Lai;v;l:g Sustainable Developmenp,
?scpeﬁzosm ?
(1) 6th
2) 8"
@ 1%
(4) 3rd
(5) Not attempted

: lowing statements ;
E?J?gj;d;z;g;nf;lchemegﬂ a State Schm-.-,'.

the Government of Haryana.

(a) A woman of age 21 years and aby,

eligible.
() It carries an allowance of T 1,800p
which of the above statement/s is,
correct ?
(1) Both(a) and (b)
(2)  Neither (a) nor (b)
(3) (a) only
(4) (b)only
(5) Not attempted

Consider the following statements about ¢
State Domestic Product (GSDP).

o X freR i | | h-
Zframon e % ST S (@) GSDP of Haryana is more than ™
() 31f E‘%T'Twﬁﬁ Karnataka.
il ELe Il (b)  GSDP of Maharashtra is more tha”
g afas €| Which of the above statement/s ™
s E @ Sy g1/ & o e/ correct ?
31T (b) ?;?Fﬁ (1) Both (a) and (b)
i - 3irr 4 & (b) () Neither (a) nor (b)
2 dl (a) 3  (a) only
(3) Fad (a) (4)  (b)only
&ad (b) (5) Not attempted
(5) I el &l
-000° ~-00o0-
~tp @1 & fe1U 1151 / SPACE FOR ROUGH WO ,ﬂ
HANTV / F2 RK
e py
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